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luminancia relativa:
40%
9%
2%
0,4%
| -Proceso de incremel
10,5,0,250
Ly =100 cd/n?

-6 5—4 3 -2 1 o 1Xr—logLr

2-003130-LO0  2-003130-FO0 MS490-30, B4_54



Y-Senales incremento para objectos de co

= —2Q[1,0c kr+xp)]
luminancia relativa:
40%
9%
2%
0,4%
| -Proceso de incremel
,0,50,250
Ly =100 cd/n?

-6 5—4 3 -2 1 o 1Xr—logLr

2-013130-LO0  2-013130-FO0 MS490-31, B4_54



Y-Senales incremento para objectos de co

= —2Q[1,0c kr+xp)]
luminancia relativa:
40%
9%
2%
0,4%
| -Proceso de incremel
,0,5,0,250
Ly =100 cd/n?

-6 5—4 3 -2 1 o 1Xr—logLr

2-103130-LO0  2-103130-FO0 MS490-32, B4_54



Y-Senales incremento para objectos de co

= —2Q[1,0c kr+xp)]
luminancia relativa:
40%
9%
2%
0,4%
| -Proceso de incremel
,0,50,250
Ly =100 cd/n?

-6 5—4 3 -2 1 o 1Xr—logLr

2-113130-LO0  2-113130-FO0 MS490-33, B4_54



